## **Se**escise Chap# Pg# 232 of the following functions (a) Sin' wt Solution: Written by:Mariam Mamta: $= \mathcal{L}\left(\sin^2(\omega t)\right)$ Source: Prof.Fazal Abbas Written by: Mariam Mamta: L (1-Coszwt) 03014696644 = 1/L(1) - L(cos2wt)] $=\frac{1}{2}\left[\frac{1}{5}-\frac{5}{5^2+(210)^2}\right]$ (b) Cos wt Cos'wt = 1+Coszwt 2[1+aszwt] =1L (1+coszwt) = 1 L (1) + 1 L (cos2wt) $=\frac{1}{2}\left(\frac{1}{5}\right)+\frac{1}{5}\left(\frac{S}{S^2+4uv^2}\right)$

Solution

 $Sin(wt-\phi) = Sinwtcos\phi - Sin\phicoswt$  $L(Sin(wt-\phi)) = L(Sinwtcos\phi - Sin\phicoswt)$ 

= L (Sinwt cosp) - L (Singcoswt)

=cospl (sinwt) - sinpl (coswt)

= cosp (w) - sing (s)

(d) Cos (wt - p)

 $\begin{array}{c} (\cos(\omega t - \phi) = \cos\omega t \cos\phi + \sin\omega t \sin\phi \\ L(\cos(\omega t - \phi)) = L(\cos\omega t \cos\phi + \sin\omega t \sin\phi) \end{array}$ 

= cosp L (coswt) + sing L (sinwt)

 $= \cos\phi\left(\frac{s}{s^2+\omega^2}\right) + \sin\phi\left(\frac{\omega}{s^2+\omega^2}\right)$ 

(e)  $e^{2(t+1)}$ 

Solution: Written by:Mariam Mamtaz
Source: Prof.Fazal Abbas Sajid

 $= \mathcal{L}(e^{2t}.e^{2})$  03014696644

 $=e^{2}L(e^{2t})$ 

 $=e^{2}\left(\frac{1}{5-2}\right)$ 

= e2

## Written by:Mariam Mamtaz Source : Prof.Fazal Abbas Sajid

Q#2. 03014696644

Find the Laplace transforms of the following functions

(a) Sinute

Solution:

$$=\frac{\omega}{S^2+\omega^2}\Big|_{S\to S+2}$$

(b) Cos3wte4t

Solution:

$$-\frac{S}{S^2+(3\omega)^2}\Big|_{S\to S-4}$$

$$= \frac{g}{s^2 + 9w^2} \Big|_{S \to S - 4}$$

$$=\frac{S-4}{(S-4)^2+9\omega^2}$$

(c) e3t t4

Solution:

$$\mathcal{L}(e^{3t}t^4) = \mathcal{E}\mathcal{L}(t^4)_{s \to s-3}$$

$$= \frac{4!}{(s)^5}|_{s \to s-3}$$

$$=\frac{4!}{(s-3)^s}$$

Q#3. Derive the Laplace transforms of  $t^{1/2}$  and  $t^{-1/2}$  from definition. L[ta] = [4+1 5011 L{t'12} = 1 1/2  $\mathcal{L}\left\{l'''^{2}\right\} = \frac{1}{9C} \cdot \frac{1}{C''^{2}} \cdot \overline{l'^{2}}$ 2 {t''} = 1 \sqrt{\pi} Written by:Mariam Mamtaz Source: Prof. Fazal Abbas Sajid L {t-1/2} = 1 1/2 L{t-112}- F 0#4:  $\frac{S}{(S^2+2aS+b^2)}$ Solution  $S^2 + 2aS + b^2 = S$   $S^2 + 2aS + b^2 = C^2 + 7aS + a^2 - a^2 + b^2$ =  $\frac{S}{(S+a)^2+(b^2-a^2)}$ 

$$= \int_{(S+\alpha)^{2}+(b^{2}-a^{2})}^{S+\alpha} - \int_{(S+\alpha)^{2}+(b^{2}-a^{2})}^{S+\alpha} - \int_{(S+\alpha)^{2}+(b^{2}-a^{2})}^{S+\alpha} - \int_{(S+\alpha)^{2}+(b^{2}-a^{2})}^{S+\alpha} - \int_{(S+\alpha)^{2}+(b^{2}-a^{2})}^{S+\alpha} - \int_{(S+\alpha)^{2}+(a^{2}-a^{2})}^{S+\alpha} - \int_{(S+\alpha)^{2}+(a^{2}-a^{2})}^{S+\alpha} - \int_{(S+\alpha)^{2}+(a^{2}-a^{2})}^{S+\alpha} - \int_{(S+\alpha)^{2}+(a^{2}-a^{2})}^{S+\alpha} - \int_{(S+\alpha)^{2}+a^{2}}^{S+\alpha} - \int_{(S+\alpha)^{2}+a^{2}}^{S+\alpha} - \int_{(S+\alpha)^{2}+a^{2}}^{S+\alpha} - \int_{(S+\alpha)^{2}+(a^{2}-$$

$$\int_{3^{2}-4}^{-1} \left(\frac{2s-3}{s^{2}-4s+8}\right) = \int_{3^{2}-4s+4-4+8}^{-1} \left\{\frac{2s-3}{s^{2}-4s+8}\right\} = \int_{3^{2}-4s+4-4+8}^{-1} \left\{\frac{2s-3}{s^{2}-4s+8}\right\} = \int_{3^{2}-4s+4-4+8}^{-1} \left\{\frac{2s-3}{s^{2}-4s+8}\right\} = \int_{3^{2}-4s+2-1}^{-1} \left\{\frac{2s-3}{s+2-1}\right\} = \int_{3$$

S+3 (dedien: 452+2)

$$\frac{S+3}{S(S'+2)} = \frac{A}{S} + \frac{BS+C}{S^2+2}$$

S+ 3 = A(S<sup>2</sup>+2) + (RS+C)S Written by:Mariam Mamt

Source: Prof.Fazal Abba

03014696644

By comparing coefficient of s<sup>2</sup>,s

 $\frac{S+3}{S(S^2+2)} = \frac{3}{2} \cdot \frac{1}{S} + \frac{(-\frac{3}{2})S+1}{(-\frac{3}{2})S+1}$ 

 $\frac{S+3}{c(S^2+2)} = \frac{3}{2} \cdot \frac{1}{S} + \frac{(-3S)+1}{2(S^2+2)}$ 

 $\frac{S+3}{S(C^2+2)} = \frac{3}{2} \cdot \frac{1}{5} + \left(-\frac{3}{2}\right) \frac{S}{S^2+2} + \frac{1}{S^2+2}$ 

[ [ S+3 ] = 3 [ - [ ] - 3 f - [ 5 ] + f - [ [ 1 ] ]

1 (S+3) = 3 (1) - 3 costst + sin tst

 $\frac{4}{((\zeta+1))} = A + B$ 

4 - A(S+1) + B(S)

```
1-1843-41-1813-41-1813
  \mathcal{L}^{-1}\left\{\frac{4}{(s(s+1))}\right\} = \frac{4(1) - 4e^{-t}}{4(1)^{2} + 4e^{-t}} Written by:Mariam Mamtaz
Q#15:
                          Source: Prof.Fazal Abbas Saj
       Solve the I.V.Ps: 03014696644
(a) u' + 2u = 0, u(0) = 1
 Solution:
     L{u'+24} - L{0}
      L [ 4'] + 2 L [ 4] = 0
      SU(s) - U(0) + 2U(s) = 0
       U(\varsigma) = \frac{1}{(+)}
     L-1 [U(s)] - L-1{-1}
(b) u'' + 9u = 0, u(0) = 0, u'(0) = 1
 Solution:
    L [ U" + 9U] = L [0]
      S'U(s) - SU(0) - U'(0) + 9U(s) = 0
      (S+Q) U(s)-0-1 =0.
```

$$\mathcal{L}^{-1} \cup_{(S)} = \mathcal{L}^{-1} \left\{ \frac{1}{S^{2}+9} \right\}$$

$$\mathcal{L}^{-1} \cup_{(S)} = \frac{1}{3} \mathcal{L}^{-1} \left\{ \frac{3}{S^{2}+(3)^{3}} \right\}$$

$$\mathcal{U}(t) = \frac{1}{3} \text{ Source : Prof.Fazal Abbas Sajid}$$

$$03014696644$$